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QUESTION 1
Which three replenishment count types are used for Periodic Automated Replenishment (PAR)?

A. Order Economic Quantity (EQQ): Generates a replenishment request for the calculated quantities based on inventory
policies to maintain the PAR quantity.

B. Reorder Point: Generates a replenishment request for the order quantity based on days of cover for the item lead
time.

C. Order Quantity: Generates a replenishment request for the order quantity entered for the replenishment count.
D. Order RAR: Generates a replenishment requisition for the RAR-level quantity.

E. On-hand Quantity: Generates a replenishment requisition for the difference between the on-hand quantity and the
RAR-level.

Correct Answer: CDE

QUESTION 2

Given:
OSingleton
public class MySessionBean {
[/ linel
public void callMathod() {
[/ implementaticn logic

}
/ /Constructor and other business methods

}

Which annotation do you use on line 1 to ensure that clients immediately time out when attempting to concurrently
invoke callMethod () while another client is already accessing the bean?

A. @AccessTimeout (value = 1, unit = TimeUnit. SECONDS)
B. @AccessTimeout (null)

C. @AccessTimeout (-1)

D. @AccessTimeout (0)

Correct Answer: D

Reference: http://tomee.apache.org/examples-trunk/access-timeout/

QUESTION 3

Latest 120-900 Dumps | 120-900 PDF Dumps | 120-900 Practice Test 2/3


https://www.passapply.com/1z0-900.html
https://www.passapply.com/1z0-900.html
https://www.passapply.com/1z0-900.html

VCE & PDF https://lwww.passapply.com/1z0-900.html|
2024 Latest passapply 1Z0-900 PDF and VCE dumps Download
PassApply.com

You have orders that were due for shipping last week, but as for now they have not been shipped.
Which dashboard should you check at the end of the day to determine which orders have been shipped?
A. Past Due Shipments

B. Orders Completed in Full

C. Past Due, Completed Today

D. Due Today, Not Completed

E. Past Due, Not Completed

Correct Answer: B

QUESTION 4

Which annotation allows a request to be executed with another Principal\\'s identity?
A. It is not possible to execute a request with another Principal\\'s identity.

B. @Useldentity

C. @RolesAllowed

D. @Runs

Correct Answer: C

Reference: https://docs.oracle.com/cd/E19798-01/821-1841/6nmqg2cpig/index.html

QUESTION 5

Your client is about to define their primary ledger.

Which set of three primary attributes do they need to know in order to complete this?
A. Chart of Accounts, Description, and Accounting Method

B. Chart of Accounts, Ledger Balance, and Accounting Method

C. Chart of Accounts, Accounting Calendar, and Currency

D. Currency, Description, and Accounting Method

Correct Answer: C
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